Die 11er - Reihe Uben (Multiple-Choice)

Das grofie Einmaleins

Aufgabe 1

1. 4 ¢ 11 = () 44 99 om ) 22
2. 6«11 = () 88 o 77 99 () 66
3. 9 «11= () 99 () 44 ) 77 om
4.3 e 11 = () 66 ) 33 () 110 77
5 3 «11= (O N 99 ) 88 ) 33
6. 10 « 11 = () 10O ) 77 ) 22 ) 33
7003 11 = () 22 o nm ) 55 ) 33
Aufgabe 2

1. 10 « 11 = () 44 () 88 () 1o 99
2. 6 «11= () 95 ) 22 99 ) 66
3. 8 «11= () 88 O 77 O 22 99
4.8 «11= () 22 77 ) 88 om
509 ¢ 11 = () 9 () 88 99 () 66
b 2 e 11 = () 22 ) 55 ) 77 () 110
709 e 11 = () 99 () 1o on ) 33
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Die 11er - Reihe Giben (Multiple-Choice) | ANTWORTEN

Das grofie Einmaleins

Aufgabe 1

1 4 e 11 = 99 M (22
) 6 e1= () 8 (O FF ()9
3.9 11 = () 44 ) 77 om
4. 3 e 11 = () 66 () 1o 77

'
w
w

5 3 11 = () M 99 () 88

6. 10 ¢ 11 = OO 22 () 33
o3 em= () 22 o m ) 55 @ 33
Aufgabe 2

110« 11 = () 44 ) 88 m 99
)6 emi= () 5 () 2 () 9%
3.8 ¢ 11 = O O 22 99
4. 8 e 11 = () 22 ) 77 .—88 ) M
5 9 e 11 = () 5 () 88 @ 9 () 66
6.2+ 11=|@ 22 () 55 () FF () 110
79 e11=@ 99 | 1o ) M ) 33
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